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SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2019
Part — 111
BIOLOGY
(Botany and Zoology)

Maximum : 60 Scores
Time : 2 Hours

Cool-off Time : 20 Minutes
Preparatory Time : 5 Minutes

=

' /Geq:eml Instructions to Candidates :
« There is a ‘Cool off time’ of 10 minutes each for Botany and Zoology in addition
to the writing time of 1 hour each. Further, there is a ‘5 minutes’preparatory time’
Jor Zoology at the end of the Botany examination.
*» Use the ‘Cool off time’to get familiar with questions and to plan your answers.
. >Read quest:ans carefully before answermg e .

s Write answer to the specific number of quesr:mis as instructed.
* Calculations, figures and graphs should be shown in the answer sheet itself.

* Malayalam version of the questions is also provided.
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PART - A
BOTANY
B Maximum : 30 Scores
Time : 1 Hour
Cool off Time : 10 Minutes
Score Score
L. Answer any 3 questionsfrom 1to5.Each | 1. 1 ojo@ 5 cuoomygg 80106 emglad

carries 1 score.

(3x1=3)

1) Choose the correct answer.

The first restriction endonuclease
~ isolated is

A) Bam HI

B) EcoRI

C) Hind II

D) Clal

2) Observe the figuregiven belowand
identify the type of gametes.

3) Choose the correctly matched pair
from the following.

a) Hibernation  — Snail
b) Diapause — Zooplankton
.— Bear

c) Aestivation

4) Fill in the blank.
A meéthod of molecular diagnosis,
based on antigen-antibody
interaction is

agem®lele 3 ageRATIM HEMOODLI®)d:.

1 capad aflme. (3x1=3)

1) wdwow sEmoo TEOENNSIEND:.

@a 0] caudfdle oS lelly]
&S0 ag)deawom &gﬂco)q;g @6

A) Bam HI

B) EcoRI

C) Hind II

D) Clal

e 2) rapies maeloldleam alio d)
& 2] a® ®o enflEee:006BEInEMAT

ag) 3.

od

3) _q_p,cué)s mnadel@ualad dlom tdooo
3209 3. IBM® TH6ETITNS)BE)H:.

a) dudloai@ - eaf
b) awmocajomy —- RS0
— 08

¢) agmiglealanad

4) aflgiéalo@) aldlafleande.

e (- el deruoas] (el (aiaud
EmMeE™m @S]moIMmad &6 ) as
@@Ll croNMIdeM® dlalleosm
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Score

5) Observe the relationship between
the first two terms and fill in the
blank.

Lichen : Mutualism
Orchid growing on a mango tree :

II. Answer any 9 questions from 6 to 16.
Each carries 2 scores. (9%2=18)

6) Expand GFCand DFC. Differentiate
the two.

7) A novel strategy was adopted to
prevent the infestation of a nematode
in the roots of tobacco plants. Write

__~ that strategy. Name that nematode.

y Fn g
S

8) Match the items of Column A with B.

A B
a. Pusa Swamim |1) Semi-dwarf
variety of rice
b. Jaya ii) Insect pest
resistant
brassica
c. Pusa Sawani | 1iii) Disease
resistant
variety of
brassica
d. Himgiri iv) Insect pest
resistant
bhindi
v) Disease
resistant wheat

Score

5) mpaeem ame’ aleemtd maxlelss
grumuo ammilelnssi] allgenlow @doe

aljBlaflen)s:.
oeelenn : oyalelmo
moaflad cugmym eodasflal’:

IL 6 oyma@d 16 cupow)gg 6.0196 Bglad
agomBs1elo 9 ag)emAmlm QAN ag)F@)d.
2 aapod allme. (9%2=18)

6) GFC, DFC agmilau aflnjelladlaaid..
DO Eezlo manleas Aly®j2ao

0g)F)m)s.
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@ (S alenym 8oy mlaegoalom
@SSO MM BOBM@EM quledlal
88®. @@ 220Q0 c@® ? @D
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. A B

a. ajm mdemlo | i) emgflodd
BRAWHER0D
20’)0
b. mw 1i) @ls(aflemaw
cuatia)as
BS)s 6).218]
¢. agym quacuadl | iii) emom(aiai
EEIWEUDAY
WSS BS)es
6).2J5]
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GEIWEUAY]
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9) Polymerase chain reaction has 3 steps.
a) Write the 3 steps.

b) Name the bacterium from which
Taq polymerase is isolated.

10) Transgenic animals are produced to
obtain biological products.

a) Name the human protein
obtained from transgenic
animal, used to treat
emphysema.

b) Name the first transgenic cow.
Write the peculiarity of its milk.

11) Based on the nature of tolerance
of temperature, organisms are
classified as eurythermal and
stenothermal. Differentiate the

two.

12) Notice the genes given'below.ywm |

Cry I Ac, Cry 1 Ab, Cry Il Ab

a) Choose the gene that controls
corn borer from the above.

b) Name the bacterium from which
cry genes were isolated.

13) Observe the figure given below :

a) Identify the cells A and B.
b) Write any two peculiarities of A.

[
~ Score

9) calogllacOm o.M o aym
apIGETBEENS.

a) @ QM CIGEMBUD ag) ML,

b) sos satoglasom saudefd
0.2)510m oA emled
BRI,

10) oeec pein memcd eidlaemaimoa]
eomamigdre; aynemag phgodiadlal
glend.

a) agondmia aflelaienmailmoal

eormigdaies aynandid afar eidlal
@MYy @0 ETHlOE GrlOOFIIE:.
b) moayeem ocdmienle: alal
O GO, ERTO atoello
(aB®B® ag)Ts) ?
11) moairilel eoafeflaflenomigs (aley)®o
amyvdla] dalees @dlomdodd

agmyo @flemo emBR@ ag)Mmio Mo
@id) 2 fldleeymy. ool eenzjo marileyss

QUY®OMV0 ag) PR
12). 2330105 M@ S W Eleeym edlmyesid
GO EUB6 .
Cry I Ac, Cry I Ab, Cry IT Ab
a) a6 aeruoodlem mla(fleaam
D agomm oyl mddes)
ldleaymaia aflar agsyer
0g) FA M.
b) eewdlme:nd scudalde.qlsiom
snuolARETHOR GO P)®es.
13) ayaies mdelaldeam afi@o id]

B D).

a) A, B agm asocemad afldlgc
W)

b) A m)g;as o6 muafletvat® s 0d
0g) YYD,
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14) Observe the nucleotide sequénce
given below :

2) Namé this kind of nucleotide
sequence.

b) Define this sequence.

15) Primary productivity can be divided
into two.

a) Name them.

b) Primary productivity depends on
various factors. Write any two
factors.

-y

16) Observe the figure given below :

Popuiation density (N)—

e

)

Time

—
a) Identify the population growth
curve a, b.

b) What do r and K stand for in the
equation given in the figuré ?

Score

14) aycues m@sleldlenym myig]
¢woeeq’ Mie:dm aildldsdleede.

!

[A | |C]
c| (1] (1] [a] [A] I

a) mygileonnguy milexdmilan
CalOPLO)Hs. ‘ '

b) & mflex@dmim mldalaime
0g) OB
15) (owdle: pejpam Sx®O® 0BT
meo mildlafldeanyom.
a) EOAUWOS CalORYLDYS.

b) (owdle pepameuam aloaul
CQISHBO8 @MW) fldenm.
@A QENTE ALISHETBUD ag) D).

16) 2yues m@eslooleanym
afl@mo Mdlexleanss.

Population density (N) —

a) dalogpeelaud (oo &dala, b
ag)mial @fldl)dlays..
b) al@enid maeloldenm

maos;yarfl@d 1, K agarila
ag)amilem auzaflaflenymmy ?
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III. Answer any three questions from 17 to 20.
Each carries 3 scores. (3x3=9)

17) Insulin consists of two short
polypeptide chains.

a) Name the chains.

b) Write the steps involved in
the preparation of genetically
engineered insulin,

18) Succession takes place in wetter
areas and dry areas.

a) Name the succession that takes
place in wetter areas (water).

b) Fill in the blanks of the flow
chart given below :

Phytoplankton| —>| a |—>
—»| b |—| ¢ |—
—> | Marsh-meadow stage| —>| d

Forest

(TN

Score

1. 17 oymad 20 cuee 6.2196)6REl® ago®

®lelo 3 ag)SREMIM MO

3 aapad allme.

17) oo’ #a10l® ealogloalalDOgU
(ryosuBle:g0e eadauellny He8w.

(3x3=9)

a) @D WEULIBEIOS GalOVFIM.

b) mdl®s ageaicedouiens
sncdaellad afldalenmaileq
2RISEBU ag)FIORH:.

18) mmanes (ueanemglelo QIS
(JCRUDEI3EIRR0 (MUBATUAUMD MSBEUTTY,

a) mmayss leswsmsla (relo)
MSHNYM MVSTVAUMD @ ?

e— b)._q_gmas mnad sl @ dleem

30921905 al}AETH@IBEE:.

mmjgjalso [—>| a [—>
- b |—» ¢ |/
— | 20%ad O@BAWO PRIG0 | ——>| d

Qimo |
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19) Observe the figures A and B given
below : . -
Trophic level
m . - | .., .'. 1.5
0 ol IR A .87
PP Do EST S KT g0e

a) Identify the type of pyramids A, B.

b) Which kind of pyramid is
always upright ? Justify your
answer.

20) Observe the flow chart given
: below: -

p— .

Diy welght (kg m™)

Score
19) ayaes mdeideanm A, B
ag)™ 2N@eBdd afldleafleeye.

1,000,000 J of Bunlight
- :

a) afledlawe:@ A, B afldlojdla)e.

b) ag® allealanoem’ ag)safowye
mlaudom meawld Sdiemeqy
s ? aflemgies pameo mydal
Bl HE) B,

20) ayaies maleleldlenm aqggoalody
o ddesNeme.

m

I

':—.> Population
Density

™)

(E)

a) Whatdo B, E, D, I in the flow

a) aqgoaddd B, E, D, I agricu

chart represent ? agmfilem aupaflafleaimy ?
b) Define D and B. b) D, B agmicug efidcuaime
gAY,
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PART - B

R

ZOOLOGY
Maximum : 30 Scores

Score

L. Answer any 3 questions from 1 to 5.
Each carries 1 score. - (3x1=3)
1) The external opening of the penis is
4) Seminiferous tubules
b) Urethral meatus
c) Vasa efferentia

d) Vas deferens

2) Leydig cells or interstitial cells
Synthésise and secrete testicular

hormones called

a) Estrogen

. b) Progesterone

¢) Androgens

"d) Relaxin

| 3) Stléctachromosomal disorder from.

the folloQing :
a) Colour Blindness
b) Haemophilia
c) Down’s Syndrome

d) Thalassemia

‘Timé : 1 Hour
Cool off Time : 10 Minutes

Score

L 1o 5 cwao d.asaymElo agoosleljo
3 agepomila hemesavimye. 1 eapod
almo. (3x1=3)

1) elomoimo mgo&mrmam" ®0HNM T
cusl@oem.
a) Séminiferous tubules
b) Urethral meatus

c) Vasa efferentia

d) Vas deferens

2) amm‘mﬁmm@mmmogﬁgm
ayy@d :006IBMD HEalddlaflay (ual
ey danodeaoemysEoes
a) Estrogen
b) Progesterone
¢) Androgéns
d) Relaxin

3) moey mmlclenymailad @mlmyo
a(@0em0dmondd ulemodawd o)

alldlead.

a) Colour Blindness
b) Haemophilia

c) Down’s Sjmdromé
d) Thalagsémia
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4) RNA digesting enzyme among the
following is |
a) DNase
b) Protease
c) Ligase
d) RNase

5) fungus genus from

mycorrhiza.

a) Anabaena
b) Azotobactor
¢) Glomus

d) Oscillatoria

II. Answer any 9 questions from 6 to
16. Each carries 2 scores.

. 6) Gene expressions are regulated

" in various levels in eukaryotes.
Explain the level in which it
occurs,

7) “Among nucleic acids DNA is a
better genetic material”. List out the
disadvantages of RNA compare to
DNA.

8) Write down any four salient features
of genetic code.

9) p + 2pq + q* = 1 is a binomial
expansion of a principle.
a) Identify the principle.

b) Mention the factors affecting
this principle.

(9x2=18)

Score

4) moey mmidenmauaid RNA e
afleaidlaflenm agymesmo agel ?
a) DNase
b) Protease
c¢) Ligase
d) RNase

5) eemaenceanmalmd pReqlg atonms
Inm ag)$1@).
a) Anabaena
b) Azotobactor-
c) Glomus
d) Oscillatoria

II. 6 aymad 16 cuen s.as3n)emgldd ageomelayo
9 n@smm‘mi' pMmeeav e, 2 aapod
allae. (9%2=18)

6) @;&orﬂc@ogﬁ@rﬁ &ld ag)g@lataud
allaflw mesmdla mloElennaisom.
aRO®mEIo0 melemgleoem v (@l
Mo Eflenasyme agmm’ allnd
BN B,

7) "mygle apmiuyeglad DNA @oer
i) Rflme gy woilme gy
ag)ym cia@idd DNA ajaoc) moemao

eaiguemiod RNA ayes uuomsqﬁdb
afledle:dlene.

8) mafloe: amouflen agemsleyo moe!
MAflnd®B0B ag)e)mds.

9) p+2pq + q* = | &gy mejerfled
OeMIEMIl@M V@IS jmI6TT,
a) O omp afld.gcflays.
b) (um® emee ol

"2IS@6me s ol alvedle:d
.
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10) Homologus organs are result of

divergent evolution and analogus
organs are convergent evolution.
Explain divergent and convergent
evolution with one example each,

“Placental mammals is an example
of adaptive radiation”, Explain
adaptive radiation based on this
statement.

VAT

Score

10) sowaidem@ aldlemonsmtd ayelo

GanoMAAIOMM” AR AIEmElo

- MeOUdeRg aldlemoasmBwd @)eio

EDMBLIU) QOIS0 AlnlNalSim),

mmmmaamrﬁ‘-ﬁmmm&mm% @)

EMODEMUD BOGRO HREANMEM Mad®o
afldledlen)e.

11) “ggomnad mmimailend mwoatdlal

- s0Mfle@aum’ 80} HBIaNEEMAIEM.”’

00 (oM ©3%andl.a) @adalflal
sole@axad allvodle:dlen)s.

12) Complete the table : 12) aigle apdomioosne.
S. No. | Disease Causative Organism Symptoms
1. Typhoid (a) High fever stomach
pain
2. (b) Common cold Headache, sore throat
3. Amoebiasis | Endamoeba Histolytica (c)
4. Ascariasis (d) Internal bleeding
Muscular pain
13) Name the four types of barriers in- el ) eassmov ©32a0R6M rm_guﬂa_sg MoeRmMo
innate immunity with one example LemyDaysmiFloes modeoieans
each. GO,
14) Explain autoimmunity with one 14) e0ez0 oy 6 9E0reM Madmo
cxamplc' ‘ ('LﬂUDGﬂcB:ﬂﬂc&ﬂ&cﬂ:
15) Name two drugs used against 15) @radelas agaion Snlewaudleam
allergy QENE DRYTTBHEUOS Gld ng)PYO)Hs.
16) Complete the table. 16) aigler aydori@osne.
A B C
(a) Fungus Citric acid
Acetobacter aceti (b) Acetic acid
Clostridium butylicum Bacteria (c)
Lactobacillus Bacteria (d)
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II1. Answer any 3 questions from 17 to L %7033%&“;&%%%‘;%%%@0
20. Each carries 3 scores. (3x3=9) aflmo. (3x3=9)
17) Match the column A with B. 17) :::;g%‘;” ;‘\g ;’3@‘:3&%’% mBﬂ g_gp%%
¢.2JdB6)D>.
S.No. A B
a) Tubectomy Copper Releasing IUDs
b) Pills Non-medicated ITUDs
c) Vaults Natural Method
d) Lippes loop Oral contraception
e) Lactational amenorrhea Surgical method
f) CuT Barrier method
18) a) Name the scientist who develops 18) a) DNA adlonnd (aNlqflov alle:milaflal
DNA Finger Printing. LRO(YEEMENE CalOOFIM.
b) List the steps involves in DNA b) DNA adlond (aNlqflovAleng allafiw
Finger Printing. agigemBM mupallallens.
19) Expand the following : 19) @00 maTildsemaimyes aydapajelo
0g) LS.

a) YAC b) BAC ¢) ESTs d) VNTR €) SNPs  f) PCR

20) @969 eaMdeamMauO @EOUQOS
@08l(@00mmdl 2] ¢qgo.10dgl@ (@l
B0 86
Dryopithecus, Homo erectus, Ramapithecus, Homohabilis,
Homo sapiens, Australopithecines

20) Prepare a flow chart based on the
chronological order. '
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